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1.  jÐ[ SZ Þ̀mÐ* kÐeÐkÐeÞ a¯j 16 aià Ð ÒjcÐ_* bÞ[eÊ ÒNÐÒV Þ̀mÐ aÐkÐeÞ NÒm aÐLÞ Þ̀mÐ* kÐeÐkÐeÞ a¯j 

17 aià Ð aÐkÐeÞ dÐB\ÞaÐ Þ̀mÐe a¯j ÒLÒ[?  

 

2. @ce, be[, QÞ_ê̄ , J Ò]aÑ ÒNÐÒV ^ÐXÞÒe \ÞaÐ 4VÞ jÞVÒe ajÞR«Þ Ð ÒNÐ`Ðf [Ð*Ê Ò]MÞ LkÞmÐ, "be[ QÞ_ê̄  

`ÐMÒe ajÞRÞ Ð  HaÕ @ce QÞ_ê¯ J be[* cTÞÒe ajÞRÞ Ð' d]Þ HkÞ ]ÊBVÞ dÐL L\Ð cÞR ÒkÐB\ÐH HaÕ be[ 3 

_cée jÞVÒe ajÞ\ÐH, [ÐÒkÒm 2 _cée jÞVÒe LÞH ajÞRÞ?  

 

3. eÐc \Òe `Ð] `LÐBÒm 42 Òj.cÞ. dÐH, hÔÐc 36 Òj.cÞ. dÐH J ]Ðc 54 Òj.cÞ. dÐH Ð d]Þ ÒjcÐÒ_ HLÐWÞ 

QÐmÞaÐ Aec÷ Le«Þ Ò[Òa ÒLÒ[ aÐV NmÐ`Òe ÒjcÐ_*e `Ð] ỀZÞ HLÐWÞ cÞhÞa ? 

 

4. ÒNÐVÞH LÐW aÐµe D`e `V ÒMÐmÐ Ð HkÐe bÞ[e`ÐMe QVÐZe Òl[Í$f 17.28 aNà cÞ. J Ò]ßOàÔ 7.2cÞ. Ð aÐµe 

Dn[Ð 1.5.cÞ. Ð aÐµVÞe bÞ[e `ÐM e= LeÞaÐLÊ aNà cÞ. Í̀[Þ V6.25`BjÐ Mnà ÒkÒm, ÒcÐVçÒe ÒLÒ[ Mnà Òka? 

 

5. M Þ̈H jË[Ðe Ò]ßOàÔ 210 cÞVeç Ð HkÐLÊ HbfÞ bÐaÒe ]ÊBM¨ LeÞ LVÐNmÐ Òd`eÞLÞ ÒNÐVÞLe Ò]ßOàÔ @_ÔVÞe 2/5 

@Õh \ÞmÐ Ð aràcÐ_ ÒRÐV jË[ÐM¨VÞe Ò]ßOàÔ ÒL[ _ÞÀà̄  Le Ð 

 

 

6.   

 

 

7.  `ÐhàéÒe ]r 4VÞ QÞ[ÍÒdÐXÞÒe ÒLDÜ ÒdÐXÞVÞ jc@ÕhÒe Ê̂jeÞ[ aÊTÐ@ Ð  

 

8. `ÐhàéÒe ]r QÞ[ÍÒe jcÊ]Ð¯ ÒLÒ[ÐVÞ [ÍÞbÊS @RÞ? 

 

9. 12cÞ x 18cÞ HL A¯[ÐLÐe aNÞQÐe RL `XÞ\ÞaÐ ]ÊBVÞ ÒRÐV `VÐfÞÒe cmâÑ $Êm mÐNÞRÞ Ð $Êm mÐNÞ\ÞaÐ SÐNÐ 

jcÊ]Ð¯ aNÞQÐe ÒLÒ[ @Õh? 

 

 

10. _ÞcðÒe ]ÞAdÐB\ÞaÐ eÐªÐ HaÕ ]ÞN aÔakÐe LeÞ [ÊÒc M eÊ aÐkÐeÞ N LÊ Nm Ð [ÊÒc ÒLÒ[ÐVÞ bÞ_ð bÞ_ð aÐVÒe 

dÐB`ÐeÞa? 
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1. Average age of 7 kids is 16. After one kid leaves the average age of the remaining six kids is 17.  

Find the age of the kid who left.  

 

2. Amar, Bharata, Chinmay and Debi are seated in a row on four seats numbered 1 to 4.  Gopal looks 

at them and says:  “Bharat is next to Chinmay.”   “Amar is between Bharat and Chinmay.”  

However both these statements by Gopal are false.  Bharat is actually sitting on seat number 3.  

Who is sitting on the seat number 2?  

 

3. Rama, Shyama and Dama walk 42cm, 36cm and 54cm  respectively when they walk one step. If 

they start walking together when will their steps match again?  

 

4. An wooden box has its top open.  Its bottom surface has an area of 17.28 sq. m. and a length of 

7.2m.  The side has a height of 1.5m. If it costs Rs 6.25 to paint one square meter, then how much 

will it cost to paint the interior?  

 

5. A 210m string is cut into two pieces such that one part is 2/5th of the other part.  How long is the 

shorter piece? 

 

6.    

 

 

 

7. Which pair of figures has the same fractional area shaded gray and why? 

 

 

 

 

 

 

8. How many triangles are there in the following figure ?  

 

 

 

9. Two little parts (crossed out) of a 12m by 18m garden has Jasmin plants.  What fraction is the 

planted area of the large garden? 

 

 

 

10. Using only the paths and directions shown in the figure, how many different routes are there from 

M to N? 
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